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(6)

®)

©)

(10)

“Provision to parents 01.' gmrfg education opportunity to their children having age 6 to 14 years.” The
above section is added in which set of schedule 86 of Indian constitution under fundamental rights?

(A) Section-11 (B) Section -2

(C) Section -86 (D) Section -4

Who is the author of life sketch of Mahadevbhai Desai “Agnikund Mein Uga Hua Gulab™?
(A) Manbhatt (B) Narayan Desai

(C) Jayshankar Desai (D) Mahadev Desai

Who is the author of stanza “Harino Marag Che Shoorano”?

(A) Kavi Preetam Das (B) Manishankar Ratnajee Bhatta

(C) Damodar Khushal Botadkar (D) Narsinh Mehta

Function of Union of India is mentioned in which part of Indian Constitution?

(A)6 B4

©5 (D)2

Which Indian sportsperson won bronze in 51 kg category in World Boxing Championship?
(A) Sukhdev (B) Nishant Dave

(C)Husamuddin (D) Deepak Bhuriya

To encourage Indian people for independence movement which English newspaper has been
started by Gandhiji in India first?

(A) Young India (B) Youth India

(C) Vartaman Bharat (D) Aandolan

In which age Himalayan Mountain Range formed?

(A) Satyug (age) (B) Archean age

(C) Jurassic age (D) Tertiary age

Stars of sky shine because of which effect of Science?

(A) Diffusion of Light (B) Refraction of light
(C) Diffraction of light (D) Division of light
What is the share of industries in gross national production in India?
(A)25% (B) 29%

(C)32% (D) 39%

In which part of Indian constitution, fundamental duties have been included?
(A) Part -3 (A) (B) Part-5 (A)

(C) Part - 4 (A) (D) Part- 6 (A)
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(1) Who was the first person to receive “Bharat Ratna”? : )
(A) Dr. Rajendra Prasad (B) Dr. Sarvepalli Radhakrishnan
(C) Mahadevbhai Desai (D) Lalbahadur Shastri
(12)  Inwhich of the followin g programmes interactive board is used?
(A) Pragya Abhigam (B) Bal Project
(©) Virtual Classroom (D) Gyankunj Project
(13)  Unique ID ofhow many digits is given to the students of a secondary school?
(A) 14 (B) 16
O 18 (D) 19
(14)  Education is a subject of which list in Indian Constitution ?
(A) Central List (B) State list
(C) Joint List (D) District list
(15)  Inwhich organ, there is insulin production?
(A) Stomach (B) Pancreas
(C) Large intestine (D) Brain
(16)  Inwhich country Hockey World Cup (Mens) - 2023 was organised?
(A) India (B) Japan
(C) France (D) Brazil
(17)  Where isthe World’s Biggest Mineral Oil Purification Plant?
(A) Jamnagar (B) Ankleshwar
(C) Digboi (D) Dehradun
(18)  Howmany leaves including holidays have been decided for Gujarat Secondary and Higher Secon:‘s.
ary Schools for the year 2023-24 by Gujarat Secondary and Higher Secondary Education Board?
(A)79 (B) 80 3
(C) 81 (D) 82 2
(19)  According toNational Education Policy-2020, which institution has been authorized for moniwdngg?
minimum commercial and quality standards followed by State/Central Schools? ¥
() (B) SWAYAM
(C) DIKSHA (D) SSSA
i ioni sotod | . 20207
(20) ;j:) tZ l»’v}nc(h class education is expected in mother tongue in National Education Policy 2020
(c) il (B) Class
ass
) (D) Class 5
ART (A)
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(21)

(23)

(24)

(25)

(26)

27)

(28)

(29)

(30)

Ifthe syllabus is changed lhccnusc ofbusiness and industries then this is considered as effect of which
factors on educational objectives?

(A) Cultural factors (B) Social factors

(C) Economical factors (D) Ethical factors

“Without thinking on what a person is doing what he should do™? This thought is connected with which
goals of education ?

(A) Ethical goals (B) Goals of attaining knowledge
(C) Goal of complete life (D) Goals of good use of free time

Objectives, syllabus, institutions and time limit if all of these are decided then this is considered as
which form of education?

(A) Informal (B) Formal

(C) lllegal (D) Joint

Which program does not directly apply to Informal learning?

(A) Knowledge of alphabets (B) Examination

(C) Education of business (D) Deaddiction

Which of the following issues is not included in three issues of learning process?
(A) Starting (B)Result

(C) Process (D) Evaluation

Some children are introverts, some are extroverts, some are talkative and some of them are shy. This
type of difference in children is known as -

(A) Physical difference (B) Difference in personality
(C) Difference in hobbies (D) Social difference

Which of the following is not included in different intelligence quotients ?
(A) Intelligence Quotient (1.Q.) (B) Spiritual Quotient (S.Q.)
(C) Regional Quotient (R.Q.) (D) Emotional Quotient (E.Q.)
Who has developed vocational interest modification?

(A) McDougall (B) Strong

(C) Morgan (D) Garrett

Which experiment is used to measure abilities/powers like Art, Music, Creativity in a person?
(A) Attitude Criteria (B) Interest experiment

(C) Zest/Rasa modification (D) Aptitude experiment

Which is not included in three types of intemal processes inaclass?
(A) Teacher-Student Behaviour (B) Student-Material Behaviour

(C) Teacher-Material Behaviour (D) Student-Student Behaviour
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(31)  Whichofthe following is not included in commonly used th
(A) Mean (B) Median
(C) Mode (D) Midpoint
(32)  Whichis different from the three tests of evaluation ?
(A) Written (B) Oral
(C) Practical (D) Functional
(33)  With which of the following is spreadsheet related?
(A) Microsoft Excel (B) Microsoft Powerpoint
(C) Microsoft Word (D) Access
(34)  Whose philosophy of education is shown in “Framing and Clading” ?
(A) Gijubhai Badheka (B) Nanabhai Bhatt
(C) Taraben Modak (D) J. Krishnamurti
(35)  Education by productive labour, for productive labour, and can only be of productive labour”
(A) Mahatma Gandhiji (B) Ravindranath Tagore
(C) Mr. Arvind (D) Swami Vivekananda
(36)  Which of the following principles is not included in principles of John Dewey?
(A) Principle of utility (B) Principle of inclination
(C) Principle of labour (D) Principle of zest(rasa)
(37) NewIndia Literacy Program (NILP) has been started for illiterates of which age group?
(A) 15 years and above (B) 15 years to 55 years
(C) 6 years to 14 years (D) 21 years to 65 years
(38) Whichis known as one nation one digital platform ?
(A)PMeVIDYA (B) BISAG-N
(C) DIKSHA (D) Vande Gujarat Channel
(39) Who talked about learning by senses ?
(A) Dr. S. Radhakrishnan (B) Ravindranath Tagore
(C) Mahatma Gandhi (D) Maharishi Arvind
(40)  Who started leaming by senses for special children?
(A) Maria Montessory (B) Grace Fernold
(C) Jim Piaget (D) Ivan Pavloy
ART (A) (6/24)




(41) Which of the f ()'Iluwing pairs of psychologists associated w ith study is correct”?

(A) Trial and Error - Vygotsky (B) Behaviourism - Padoy

. 3 o o 5 . = > =V aviliy

(C) Constructivism - Skinner (D) Conditioning by factors — Thomdike
(42)  Whichof the following is not a characteristic leaming process”

(A) Experience is necessary for leamning '

(B) Interaction with environment is necessary for leaming

(C) Learning can enter from one condition to the other

(D) Memory is necessary for leaming

(43) Who gave Discovery learning approach ?
(A) Robert Gagne (B) Jerome Brunner
(C)Bandura (D) Ausubel

(44)  What will be the area of a circle having radius 14 cm? A formula is used by childrento answer this
question. Which intellectual skill he or she has obtained?

(A) Differentiation (B) Concept
(C)Rule (D) Solution of the problem

(45)  Inwhich of the following disorders intellectual skill of children destroys?

(A) Down Syndrome (B)ADHD
(C) Cerebral Palsy (D)Autism
(46)  Which of the following will be on top level according to Bloom’s Taxonomy?
(A)Evaluation (B) Creation
(C)Isolation (D) Utilization

(47) Which of the following is unsuitable in achievement test ?
(A) Sufficient time given to the students to answer all of the questions

(B) Class is related with progress(development)

(C) Education work is given at the end
(D) Questions are selected to test the skills of a student

(48) Whichofthe followingmeasurcrnentsofmiddlepositionmnnotbes}m“n?
(A)Mean (B) Extension
(C)Median (D)Mode

(49)  Whichofthe following is not true for standard deviation (s )?
(A) Group Category will be as much as the low value of standard deviation
(B) Standard deviation increases by the addition of any constant number in marks
(C)Ifall them amsmmlﬂﬁpﬁcdbyonlyomnmnbermcnsmﬂarddeviaﬁon increases at the same rate

(D) Standard deviation is used to know the variability of the marks
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(50)  Which ofthe following is not
(A) These are only in digital format .
(B) Itis presented by webpage or any other medium
(C) It contains only animation
(D) It can be linked with QR code.
(51)  Which of the following is not OER?
(A) BISAG - N (B) GROWER
(C)NROER (D) e-pathshala
. N 1 2
(52) Which of the following subjects (issue) doesnot apply In the concept of E l?ammlg.
(A) Learning-Teaching is a present time field.(B) Learning has only one optlfm.
(C) Class learning i interesting (D) Information s available online.
(53)  Summary of which cannot be applied excepting its related groups. This is what type of modification?
(A) Experimental modification (B) Survey o
(C) Basic Modification (D) Functional modification
(54)  “Children is creator of knowledge and not consumer.” This is the conclusion of —
(A) Behaviourism (B)Naturalism
(C) Rationalism (D) Constructivism
(55) Learning is anatural process and not manmade. Who gave this concept?
(A) Aistotle (B) Rousseau
(C) Froebel (D) Montessori
(56) R,U,X,A,D,?Tocompletethe series what will replace the “?”” question mark
(A)F B)G
(OH (D)1
57 1,3,3,6,7,9,9,12,21,? To complete the series what will replace the “?”” question mark
(A) 10 (B)11
(©) 12 (D) 13
(58) 10,100,200,310,? To complete the series what will replace the <7 question mark
(A)400 (B)410
(C)420 (D)430
(59) Inacertain code TEACHER is writt :
- is written as VGCEJGT then in the same code CHILDREN can b€
(A) EIKNEGTP (B) EGKNFITP
(C) EJKNFGTO (D) EJKNFTGp
(60) Inacertaincode TWENTY is written as 863985 »
. . and ELEV SN 1 . .
same code TWELVE can be shown by which number? ENis written as 323039 thenin
6
(C) 863903 D
) 863063
ART (A) (8/24)




In a certain code language 123 means “bright little boy’ and 145 means “tall big boy. In the same

(61) . . e N
way ‘637 means beautiful little flower’ then which number will be there for ‘bright’?
(A) 1 (B)2
(C)3 (D)4

If+means x, X means -, - means+and—means + then which of the following numbers will be the

(62)
solutionof 175—-25 + 5+20x3+10
()77 (B) 160
(e (D) 2370
(63) Select the appropriate option for * ?” in the following figure
20160 4
? 4
480 8
% | 24
(A) 860 (B) 1140
(C) 2880 (D) 3240

(64) How many triangles are there in the given figure?

T~

(A)15 (B)16 ©) 17 (D) 18
(65) Whatwill be the angle in degrees between minute and hour hand of a clock at 3:40 ?

(A) 140 (B)150 (C) 130 (D) 120
(66)  Select the odd pair:

(A) Yoghurt-milk (B) Sandal - leather

(C) Peanut - oil (D) Sugar—sugarcane
(67)  Arrange the letters of the given word alphabetically.

COME (4) INTERN (5) INSIDE

(1) INTERANAL (2) INSECT 3)IN

(A)3,2,5,4,1
(€)4,5,1,3,2

(B)3,4,5,2,1
(D)3,1,2,4,5

then how many Sundays will be there in the same year?

(A) 50 (B) 51 (C) 52 (D) 53
(69) A person drives his car 50km towards east after that he turns rigl?t and firives 30 km. Then he

t i _How much away he is from the starting point?

urns west and drives 10 km (©) 100 km (D)60km

(A)20km (B) 50 km

(68)  Iffirst day of a leap year is Sunday
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(70)

(71)

(72)

(73)

(74)

(73)

(76)

(77)

(78)

(79

(80)

(81)

Select the different figure.
A B C D

(A)A (B)B (C)C (D)D
.................. AL 20l 89

(A)#id (B)x[Ra (C) #A-13L (D) dud
ARl L sy e Gels 8.

(A)dsAy (B) 54 (C) uuyd (D) WRAAR
cntiziedl el 2R Gl A A ol - asd-AL USIR Sl

(A)sdR (B) s (C) eud (D) 335
50 Breall-ll v el i), 2euda Suizd et -tsau el €hedl. s s wsiR wsual.
(A) &8l (B) 45cs (C) e15% (D) A2
WA el 550 ?

(A)Y¥es (B) els3l (C) 15241 (D) sAe
“flza’ el [Qal see g wn ?

(A)YHABY (B)4ad (CydlaL (D) Sleled

] st viél s Sla d Rsew sdL s ?

(A) vlodeL - 351 (B) 21+l - [@ddald  (C)>13aly-aully  (D)Addl-3gdl
ittt 1arza Anat =12 Al Yls uz At 3 3 Gl 2 - 68U Hirll 35 Aos sUL Y7
(A)edl (B) 5[4 (C) 25t (D) uind
RuHRALAL GELId MHloL A 24l €14 dd st 546 7

(A) s1at ! ed MRia us !

(B) 1atust A [QeuedlAl i, A 516 Yo Wil L, GiruaAl 34l a5 aadl usdl.

(C) 3 ey : H1zi @vitell A di L.

(D) .....dALHRLEBAS.

2108 214 AL Al 201l vildl A €l ddl Asey sui e ?

(A) A2 -1, E1R§ (B) 52 - &S, Bvz

(C) it - M, 532 (D) 52 - Bam, 32

un‘{g USHL 2B 524 10t BRA WL udl €y dg Qs s ?

(A) H.l‘&lqﬁ%éltqq.i_m'liﬂ. (B) 5 QU3 12 A % HiLce] B

(C) ¥i b9 QL MeR AU S u . (D) £k 20 sia] aenaln waud eit 539 ASA-
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(82)

(83)

(84)

(85)

(86)

(87)

(88)

(89)

Gz aveAL AU 3] yyy ?
A)za +azd e
( )> Al (B)za + mimy
(C)esr>ix (D)2l = 5122

= B = 0
sAtal sl s{@ s 5457
(A) A HHYHL AL5L %203 33l (B) 18 vt 2o oy ca
(C) 22212 Azl 2L M- 210% 2w (D) 2015 £ el -t €let
9ol U2 A4 Qviar-l Guiy wiv
Ba@sivet-dl sal usR e ?

(A) 2epr1arl Bulsius

St Alasdl - aznl 3Wilkd sia ues wiwe

(B)*uarzs Builasiue
(C) Aldarxs Gulasius (D) 22 s BuRiug
2L Sl Al A 20 Y 2 UH 7 - 51z Aoy
(A) A[Z135 x1ds1R (B) >[dsdlZd dsz
(C) 3Us AdsIR (D) G »dzz

Mahesh was too smart. (Remove “too” without changing the meaning.)
(A) Mahesh was not smart at all.

(B) Mahesh was smart more than required.

(C) Mahesh was foolish.

(D) I was doubtful whether Mahesh was smart or not.

.................... INS Arihantis.................... Indian Naval ship. (Fill in the blanks)
(A) The & an (B)An & an

(C)A&an (D) The & the

Most students have brought their homework. ......c....cc....... of them have not completed it yet.
(A) None (B) Few

(C)Each (D) Alittle

A AU sYLeL. - viL ALsA A1 2iAD iR Y y3) ?

(A) I cut my hair. (B) I clipped my hair.

(C) I got my hair cut. (D) I had a nice hair cut.
Give the nearest meaning of word : ‘Phantom’.

(A) existent (B) imaginary

(C) corporeal (D) tangible

Give the verb form of ‘little’.

(A)alittle (B) unlittle

(©) belittle (D) bilittle
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(92)

Change the voice : “What caused COVID-19 7"

as caused by COVID-19 9
(A) What was COVID-19 caused by ? (B) What w 12 L()l:l;l;) el
PV = S CAUSe(
(C) By what is COVID-19 caused ? (D) By what
ite ) ne > underlined ey
(93)  Select the word or phrase which is closest to the opposite In meaning of theunderhined word : “Rgpy)
will never accept your request.”
(A) turn over (B) umdown
(C) turnup (D) reject
(94)  Addasuitable question tag : Radha, one of my neighbours slipped offa staircase. ............ ?
(A) did she (B) does she
(C) doesn’t she (D) didn’tshe
(95)  Fillinthe blanks with appropriate set of prepositions : Nidhi travelled ......ccuoen.. hermotherall ...
the world when she was 17 years old.
(A) by, above (B) for, around
(C) with, around (D) with, over
(96)  Turn this sentence into English : “8% 8L § dnl Ul el QA 8 asell well.”
(A) Icould still saw her standing there alone. (B) I could still see her stood there alone.
(C) Icould still see her standing there alone. (D) I canstill see her standing there alone.
(97)  Fill in the blanks with the appropriate word / words : Rohan and Nayan have been on vacation
..................... May 2023. They ..................... to Manali for a week.
(A) for, had gone (B) since, had gone
(C) for, have gone (D) since, have gone
(98)  Mantra got the first prize last week. Find out the correct option to get the underlined answer.
(A) Which prize did Mantra get last week ?
(B) When did Mantra get the first prize ?
(C) Which prize Mantra got last week ?
(D) Where did Mantra get the first prize ?
(99) Ravi.....ee..... in this company for five years. Find out correct form of verb from the options-
@) works (B)is working
(C) has been working (D) have worked
(100) Find outthe correct spelling from the options.
(A) Spactacular (B) Spectacular
(C) Spactaculor (D) Specteculor
ART (A) (12124)




(101)

(102)

(103)

(104)

(105)

{5}61“ A ;{mm Bl st dlon s Qo) 52aL M2 541 s+l WeallaAl Gyl Grx
a9 7

(A)2H (B) 611
(C) 6B (D)HB

1AL U4l 52l 2210 QAL et 243 djea eafd & ?

(A)dldl a1 (B) Yl 31

(C)y ateull 31 (D) 5101 331

-l 22U sell-dl B 13-l ANl 36 Ml s AT A S ?
(A) xMeldle (B) Rigy:

(C) %Aele (D) a3+21R

% [leuni 20101 6191 538 (A1) Guauda ly 217 ywouoidl - 1wtz Sl AN 54t
usiReL Qe sdaw ?

(A)[d (B) uelyd iew

(©) »iayd Ry (D)UY

r[gl:u;{iaﬂ sy A1F2aAR-l Hee A 5121 SRl AR $Aas {0, 21 352 0] 1S

AW ?

(A) 512l 2l (B) 512¢ 3l

(C) U~ (D) U A5

sl sasRL Ry sas @0 endly GuRid Setl@u 24 8-y sal uglil-l Y Fat

(106)
wa 9 ?
(A) o2t~y el (B) R{lsce udlut
(C) 4AAR Y5 (D) 3 Ul
(107) ‘ARR6UA’, ‘it 2 ‘oe-Yodl suL sasi-{l waglldl Rglazi 6 ?
(A) R{sald ulu (B)A™MIAl4 s
(C) 3. VIR Yled (D) g udlu
(108) ser-ll Riaer i s WBig sals e oRuadl 2iieus vid seildenau-l - 597
(A) R{lseud ydlu (B) ¥LHLS -lus
(C) egous e (D) 2ri. 1. A
(109) 21 21 5249+ Al st 247 Argla 21 sl SASRAUYNA Daguo10 o-fl e & ?
(A) FYeUS s (B) vlBelR MR
(C) g udlv (D) AA2sR Nan
(10) 2Rsis2 Ay 5 v Gu-wnt | (Be WA O 7
(A) 24120 (B) ‘A1’
(C) Ras2 (D) Ul SRR
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(111) (il su1 3120t UM Aocdla 22U 3&”[11,\.
(B) 5011 - A¥E

(A) et - 33l - ol s
Naadu-l2

(C) dldl - e - ol O fpllonil A ?

N 512 YL AL €9 ?

(112) Rstiust, Ys-5a2, U2 g3 Ml HL 4L ys-{l LA R

7

(A) G P1uaR (B) 2ﬂd§°t%_m )

(C) Roadlu 3ol (D) sl PLATU
. ? :
(113) Al 53 A y3e wxdlerid Geleel sl st ! ;
(A) dlHed B) -l Bedl
(C) al3un (D) Yluag Wt i
o
(114) Rl R{1-2t-lddl catfaarll i dl ¢ su Ll GualaL s ? ;s
Ay (B) woiell .
(©) el (D) dlel ,%
(115) A A6 Bt o a0 2 53 PLydlat diacadla solugRAl Potoda ® dusdlasi. %
1 adl
(A) 3l -dlal (B) 3l -=oidll a%
(C)Audl-dldl (D) 3012 - aneell ,:%
(116) 6lgett ict oudld saft sAag Rt 56 Al 21AG O ?
(A) MR HEHRL (B) AUs Ads b
(C) xR (D) U@ 2;

e

(117) 58 4R¥e eiid-AL Ye eIl s B ?

(A) A€ Aue-Al ol (B) sl Rl Rese
(C) L 1R (D) A% HR¥e

(118) g R0MI v o[ HNURRAL A 56 521440 Bl 2uduyde § ?
(A) 3 el (B) WRwlls
(C) ads (D) wa Al

(119) RateRa o3 Ve ?
(A) yils (B) v
© Sy Nl (D) WR

120) 550 (3)-l A=)

(120) N Al GuAlaL §%39) vy (Qenfad 53 ¢ 2
GBS (B)HL
(E)eFs (D) 2b 3L




(121)

(123)

(124)

(126)

(127)

(128)

(129)

(130)

(131)
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AlatLAMi Gl Alsed 59 2uid ulds o ?

(A) 2l 2o (B) >l vit
(C) Glo{l 2l (D) 425 3uil
iy s 2uit ad 54 Pt euldl as.

(A)as (B4

(C) [t (D) dietel

55 A\e(lL 390 Braaiell ittt el

(A) qcllu 2ell (B) [adllu 20l

(C) nam Al (D) s uat ¢l
21390 3 2SR s (B 3 A4 Bumi FaS wad g 58 8 7
(A) YrRis (B) [Qad@L

(C) et (D) 3oL 2iHlos+t
Yird AP 2512 (An) 54 Rt 8.

(A) A2 [ (B) ueld Piat

(C) Bt ulos+ (D) it (ot

sul Bl Yoy GRa Yl 8 7

(A) ®ld [t (B) st At

(C) sercll (ot (D) R @At

Bist stile A Hevag w015y 7

(A) il (B) 32

(C) 2SR (D) 512

e us1e - udlAl b 2 Yeotyl 2uitd a3 sl v 9 ?
(A) usLelly (B) e911L

(C) 51012l (D) 4512

100 3RLAL Lzt WAt SR 58 wag esusii s 7
(A) 21316l dled (B) eleL 8-l aia
(©) 2tuydl-l ala (D) uellsl ala

ol Auene el Aeldl sousfa sd e ?

(A) APRRALA (B) &aui-{l

(C) Agdal (D) il

Sapett 2008 ]y suL Rotsiz v 8 ?

(A) 2L IR MR (B) 4l (A5 A
(C) ol 2L seine uRm (D) Al Al s
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(132) MR 3 k2 2 58 soud ?

(A)3uglas sal (B e s

(C) eudBin sou (D) Rt A
(133) ‘sigdel’ BlotL uos slot el ? .

(A) 2 v Be uHR (B) 4l srlueudt yled

(C) £l p991-teie e (D) L ARsA it
(134) Bustsiz sll opgets -Ateis-l o sl Breettil wall well 7

(A) ¥ (B) Adle

(C) a4l (D) "R
(135) 1L PN uReds B.

(A) URRR 5AR (B) dla? 5¢R

(§RE-CELH (D) Arfle 5E2
(136) 229ll 35, il 541 sui 1AL GualaL Q7

(A) dldl - aiedll (B) dldl - diet

(C) 3 -dlel (D) Aol - Lol
(137) “yoaRal” Rt sul ResR s dg 8 7

(A) VIREIA YHR (B)AlHLALA We

(C) Wseie Wnt (D) $1UIAIA YlEd

(138) “sal e Bisd e su1 Bois W 1d?
(A) Lsad . ydu (B) vllBet uHIR
(C) Uctulie (D) % UGS 1US

(139) Bl st usiR-Al Jvuil-fl ee ad 33w 21 Aild-d 2udvi euldl asiu d ?

(A) AR 2l (B) o dl vl
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